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L[y] = y ′′ + p(t)y ′ + q(t)y = 0 (2)

The method of variation of parameters, due toLagrange, applies much more generally than themethod of undetermined coefficients studied in §3.6,but most often requires more work. It is notrestricted to special forms of g .
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Y satisfies (5). We note however that we have onedifferential equation (5) and two unknowns u1 and u2.This can be used to our advantage, in selecting arelation between u1 and u2 that simplifies thecalculations.
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Examples

y ′′ + y = tan x; homog. eq. : y ′′ + y = 0
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y = 12xex + 14ex − 14e−x


